The normal rules of Sudoku apply. Place a digit from 1-9 in each empty square so that each
row, column and 3x3 block contains all the digits from 1-9. In addition, the digits in each inner
shape (marked by dots) must add up to the number in the top corner of that box. No digit can

be repeated within an inner shape.
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This puzzle may be printed or copied solely for personal use. © Puzzler Media 2008.
This puzzle may not be reproduced in any other form without the written consent of the
publishers. The puzzle appeared originally in Puzzler Brain Trainer.
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